General Awareness

Through which of one among the following materials, does sound travel lowest:

QlAgRiaa i, Reg qrited & Arem Q @f aE ga 8 g &

Ops: A. © %rT
B. %%S
c.C \t/rv;ﬁer

The Vijay Nagar Advanced Landing Ground of the Indian Air Force, which was re-
opened recently, is located in

Q 2 YR I 1 1 faory R Teais dfet a1, ford g1et g1 # fhr 4 == fobarn
T AT, gl (Ud §

Ops: A, © Jammu and Kashmir
P-A-T S iR R

Arunachal Pradesh

B srpumed vy
c o Karnataka
L PAle®
D. Himachal Pradesh
 feHEd W

A jet engine works on the principle of conservation of

Q 3 Je goH fh g & RIgid W &H HaT

Linear momentum

. f_'
Ops: A g ify
B Angular momentum
B LY K |
c o Energy
D Mass
SIHIT

"The stars seem to be higher on the sky they actually are” this can be explained by:

Q 4 "TR AT & 3 #3735 B & ST $ifrh el gldl € 78 S¥P g1
NLEICISIRCHIEE

Atmospheric refraction
AgHSI 3UadH
B Dispersion of light

' UDIR h]

Ops: A.




c Diffraction of light
T I &I fagad
Total internal reflection

D. SN
$d HTdRD TRIad

In SONAR, we use

Q5 SONAR H 8H TN HRd &

. Infrasonic waves
TAL T .
Ops SIS a3

Ultrasonic waves

B. e N
Sl dR]
c Radio waves
B 2 |
D. Audible sound waves
B K KT
Which one of the following is an element?
Q6 fpRfd A IPT T TS @ &
.. Topaz
Ops:A. ¢ TRRTST
.. Diamond
B.
BRI
. Ruby
¢
N
. Sapphire
T
D fem

Which of the following gases is used for refrigeration?

Q 7 yxfiqa & forw fRgferfad & ¥ o= Y 719 &1 fUan fear S g 2

- Chlorine
. '
OpsiA-© gade
- Sulphur dioxide

f \J
B. b SISAIRISS
c Phosphine
D Ammonia
T 3|

In the human body, red blood cells are produced in:

Q 8 {g TR & AT Iad HIRB137 BT AT BT @ -

. Liver
. '
Ops: A. R

B Pancreas
' SN



c o Bone marrow
' 3R Al

D. None of the abovre
T SWRIGdH A BIS Tol

Night blindness can be corrected by intake of:

Q 9 feb e Yol A el 1 Slep febal oI Hebell & :
Ops: A. € Vitaminé
. Vitamin B
B Ryt
. Vitamin C
S G RE
.. Vitamin D
D-© et &

Who was appointed as the Chief Executive Officer (CEO) of Alphabet Inc. in 2019?

Q 10 2019 T "3fehIac S "BT JoT IR fUBRY ford FAga fovam

.. Steve Ballmer
Ops:A-© g amR
Satya Nadella

B g
c o Sergey Brin
C Wed
D S.undar Pichai
R e

Who was elected as the Prime Minister of the Britain in December 2019?

Q 11 fggter 2019 ¥ foic o1 gemHHt food g1 mam 2

.. Gordon Brown
. '
0P AT Mg ame
.. David Cameron

5 IR FmA
c Theresa} May
Ry

D Boris Johnson
T ARG S

What was the theme of 11th DefExpo held in Lucknow, Uttar Pradesh?

Q 12 a3 IR U= H 3Aifold 11 d fSth-g Tad! &1 faug om 1 2

Oos: A Digital Information of Defence'
PS AT et fefied gemm
Indian Defence role in theTransforming india

B Rt el &1 HRA P UREd & Aer



c Digital Transformation of Defence’
T 1 fSfSted ufvadH

Defence and Indian Economy’

D e aiR YRty sreforaw

Where was the India's 1st plant set up to produce diesel from plastic waste opened?

Q 13 e I T SIoid §9H & T, HRd 1 Ugdl Wi dgl Tiell T 872

.. Aizawl
Ops: A. T 5 § ﬁ
p
B Mathura
HYRT
- Shillong
{ .
€ Ry
.. Kohima
D.
PHIfgH

Where is India’s first marine national park located in?

Q 14 yRd T Ugar TgL UTdh FHeT R YT 2

.. The gulf of Mannar
“AL
Ops A R @

B Bay of Bengal
B0l [ K R S

c o Gulf of Khambhatkhambat
g D @l

D. Arabian sea
© 3RETEER

Which of the following company has partnered with UNESCO to adopt technology in
classrooms?

Q15 %qﬁ@fmab‘q:ﬁﬁ UNESCO & I1 HRfleR § Menfiie! &) o 0 & 31U
?

Ops: A. Sam§ung

_. Lenovo
~

B. KRG
.. Toshiba
-

C. GIRE
.. Dell
~

D. s

English

Q1 Pick the word that is closet in meaning to 'Eccentric'.

Ops: A. ©  Strange



B. 7 Natural
C. T Shine
D. T Gentle

Q2 Pick the word that is closet in meaning to 'Justify’

Ops: A. © Defend
B. ¢ Tender
C. T  Cruel
D. ¢ Optional

Antonym of 'Sarcastic":
Q3

Ops: A. ©  Ironical
B. ¢ Derisive
C. © Courteous
D. T Saucy

Antonym of 'Vanity":
Q4 y

Ops: A. & Modesty
B. T Esteemed
C. T Conceit

D. T Pretension

Q5 Pick the word that is closet in meaning of the idiom "Make a long story short":

Ops: A. & Come to the point
B. & No manners
C. T Allofit
D. T Everything

Q6 Pick the word that is closet in meaning of the phrase "about to":
256653

Ops: A. ©  to be on the point of doing something.
B. ¢ suddenly, without advance warning
C. T with regard to
D. " inaddition

Q7 Animals that eat flesh:

Ops: A. T Herbivorous



B. ¢ Carnivorous
C. ©  Amphibians
D. T

Gregarious

Q8 .... map of India.

Ops:A. T A
B. T The
C.7 An

D. T Zero article

Doctor says it is .... hopeless case.
Q9

Ops: A. T the
B. T an
C.7 a

D. T zero article

Q10 | came the day ..... yesterday.

Ops: A. © after
B. ¢ before
C. T since
D. T over

Q11 He rules .... a vast empire.

Ops: A. " above
B. T upon
C. T over
D. ¢ under

Q12 Our hoard is little, ... our hearts are great.

Ops: A. ¢ and
B. T or
C. T but
D. ¢ that

Two .... two make four.
Q13

Ops:A. T a



Choose the word /phrases which is most similar in meaning to the word phrases from
the following options in question.

Q14
Contract

Ops: A. T Tract
B. © Expand
C. T Give
D. ¢ Abridge

Choose the word /phrases which is most similar in meaning to the word phrases from
the following options in question.

Q15
Docile

Ops: A.

B
C.
D

Vague
Gentle
Stupid
Stubborn

Mathematics

S, denotes the sum of n terms of an AP, whose first term is a. If the common

difference

d=S-kS

+ S ol -
=" then k is equal to

n—1

Q1 s, U U U Jult & n UGt & TN B FHSfUd Bl 8. PaPT yuH U a g1 TS

d=S-kS, +S

39 9t 7 I 3R 2" qq k SRISR §
Ops:A. © 2

B.C 3

C.C 5

D.C 7

If Z; and Z; are two complex numbers such that |Z;| = |Z,| and arg (Z;) + arg (Z2) ==,

then Z; is equal to
Q2 gfg z, qur
Z, SRR 8

Ops: A. ©

27,

Z, & Ut Iy Tt B, 1 (24 = (25| AT arg (Z0) + arg(Z)= = @9



Q3

Ops:

Q4

Ops:

B.C 7,

C. —22
D. Nongofthese .
B-C - o

If Z1, Z, and Z3 represent the vertices of an equilateral triangle such that |Z,| = |Z,| =
|Z3|, then

g 74, 7, TUT Z, forlt THaTg By & X &) 59 TR Mefia #d € foh (24 =
|Z2| = |Z5| dd

AT Z1+Z,=2;
B.T Z1+Z,+Z3=0
C.0T Z1Z,=273

D.T Z1-2Z,=23-2,

If the equation x*+2x+3=0 and ax*+bx+c=0, a, b, ¢ € R, have a common root, then
a:b:cis
e FHIHRUT x2+2x+3=0 TUT ax’+bx+c=0, a, b, ¢ € R, % TH Hd YA g, qF ab:c

3

A T 321
B. T 132
C.T 312
D. T 1:2:3

e = p¥ = Y4
=b’v=c ' then x, y, zare in

v

Ifa, b, carein GP and @

Q5 . YoVl ) .
g a, b, c OUIR TR A adUr @™ =07 =¢™" qaxy,z 8

0ps: A e ief
B GP

© TUiwR Aot |

c. HP .

LIS AU

D Nongofthese '

C H AP R

Q6

If p, g, r and s are positive real numbers such that p + q + r + s = 2, then M = (p+q)
(r+s) satisfies the relation, when

i p,q,r YT s I UBHR DI ITHD IRATGD G@AE G b p+q+r+s=2T@M=
(p+q) (r+s) TR qS TP BRI, O

OpssA. T 00 <M < 1



BT 1 < M=<?2
co 2=<M=<=3
DO 3 <M< 4
2 2! i]
= o+ == + + -
The sum of the infinite series 2! 4l 6! is
! 2 2t 2
AT 2 T AT TR T T o R
Ops: A. © e 1
2
B (* €I+1
' 2¢”
ce e
2e”
p.o e+
2

If n is a positive integer, then n* + 2n is divisible by

Q 8 7fg n TP TS QUITeh §, AF n® + 2n HTST BT

2
: -
Ops: A. > q

If a and b are the coefficients of x" and x"" respectively in the expansion of (1+x)", then

Q9 7fa a qUT b HHTE: (1+x)" P IR & x TUT ™ & U B, Id

Ops:A. T a=b
B.C a+b=n?
C.T a=nb
D.T a-b=n

2 —1}
A =
If ~1 2] and 1 is the unit matrix of order 2x2, then A? equals to
Q10 Al 2 —1]
gfle U1 20 quri2x 2 ®If & Uhd SR (unit matrix) §, I8 A2 SRTER §
256659

Ops: A. T 4A-31



B. T 3A-4l
C.o A-l

D.7 A+l

The value of A, such that the system of equations x-2y+z=-4, 2x-y+2z=2 and
x+y+Az=4 has no solutions, is

Q11 gHHRUN & BT x-2y+2=-4, 2x-y+22=2 AU x+y-+Az—4 BT BIs 8 ol § T A
g

Ops:A. ¢ 0
B. O 1
C. 0 #1
D. 3

i p and I are the roots of the equation x>+px+q=0, then the value of the

a p T
BT a
Q 12 determinant ' T @ £l js
a 7T
T a
afe & By v ISR C+px+q=0 F A g ad FAulRes | T « Bl Hwramg:
Ops:A. T 0
B.T 2
C. -2
D.7 1

If n(U) = 700, n(A) = 200, n(B) = 300 and n(ANB)=100, then n(A*NB) is equal to
Q 13 7fg n(U)=700, n(A)=200, n(B)=300 TUT n(ANB)=100 TF n(A!NB’) TR B:

Ops: A. T 300
B. ¢ 350
C. T 400
D. ¢ 500

Which of the following statement is not correct for the relation R defined by aRb, if
and only if b lives within one kilometer from a?

Q 14 Jig=] R S f& aRb 516 5 (if and only if) b, a Y T fraHicr & e /a1 |, A
gy B 1 99 g & § o 1 HYF Sid &

R is reflexive
R W G~ §

B. © R issymmetric

Ops: A. ©



R AT G §

c o R is not anti-symmetric
R YURI-HE IR R 8

None of these

D. \ .
STH Y BIs Tal
(x)= —
Let f: R — R be a function defined by' ‘ r—mn’ where m # n, then
Q1> flx)="+—=
qﬁWf R — R Sl fh TN gim#n FURUING R, T9

Oos: A f is one-one and onto
P f Uph 3R ATSTED B &
B f is one-one and not onto .
[ Uh® 3R ABEH 8! e o
f is many one and onto
f SgUH 3R 3MTSIGH B §
f is many one and into

f IgUD AR TR ATBTCh e &

The value of (tan10°+tan35°)+tan10°an35° is
Q 16 (tan10°+tan35°)+tan10°tan35° &1 HIH &

Ops:A.© 0
1
~ L
B. 2
C.T -1
D.T 1
A
Sec?0 = T
(z+y) is true, if
Q17 . 5, _  Axy
Sec+B =
(z+y)” ggg afe

Ops:A. T x+y#0
B.T x=y,x#0
C.T x=y
D.C x#0,y=0

The minimum value of 9tan®0 + 4cot®0 is

Q 18 9tan’0 + 4cot?0 HT FAaH M &:

Ops: A. © 13
B.T 9
C.T 6



D.¢ 12

01 In AABC, if ZAZ%’ then cos’B+cos’c equals
% AABC H, Tfg LA=T dd cos’B+cos’c SRTER &:
256660
Ops:A. ¢ -2

B. T -1

C. 1

D.O 0

Cos A _CosB _ Cos C
In AABC, if @ b ¢ and a=2, then area of triangle AABC is
Q20 . Cos A _CosB _ CosC
fAysiaAABC H, afg @ b ¢ TUTa=2, 99 AYS AABC BT
RELTS] %:

56660!

V2 5q. unit

V2 i
2 sg. unit

.
B qfzei
V3 sq. unit

V3 o g
3 sg. unit

D. 3aﬁ3$|_5£

Ops: A. ©

Physics

Which of the following expression has a dimensional formula different from others?

Qlﬁéﬁ«@ﬁﬁ@f%ﬂ@ﬁﬁﬁtﬁuﬂggﬂﬁﬁm%

56663

LEO Ez(eo L L
2 permitivity of free space, E: electric field)

Ops: A. © )

2
2 S0 E (S fafa @t faggasiear E: dggd &)
B hv (h: Pla}ncks constant, v : frequency)
" hv (h: Wi [T, Vv 3did)
pgh (p: density, g: acceleration due tggravity, h: height)
pgh (p : Id, g : oA @R, h ;



pv : :
D. (p: density, v: velocity)
Py
2 (p: Y-, v: aT[)

The acceleration (a) of an object varies as a function of its velocity (v)

as @ =AYV \where A is a constant. If at t=0, v=0, then the velocity as a function
Q2 of time (t) is given as

% T FTR () STF MV FIRIT = AVV 25 A 1o RRIF B

gfe t+0 ij v+0 81, A THY (1) & Ual A 37 far Srar &:

3 .23
Ops:A. ©  —A° ¢
P 4

1
B. ¢ 4 At
C. L/lzr‘?
4
D. Lxlzr
4

A car starts from rest to cover distance 'd’ on a road where the coefficient of friction
between the road and the tyres is u. The minimum time in which car can cover this
distance is proportional to

Q 3 faRTHARIT T TAHR U HR U ISP R 'd' G a9 BT & 61 TS9P 3R TRRI B

gﬁﬁmwu%ww,mﬁwwgﬁaﬁmw%mﬂwﬂ

Ops:A. T U
B. L[_I
- 1
C. { !_l2
- 1
D.f !_'. 2

A 1.5 m tall girl standing at a distance of 15 m from a fence 5 m high throws a stone
of mass 0.25 Kg at an angle of 45° to the horizontal. The minimum velocity of the
stone to be thrown to fly over the fence is

Q4 1.5 Hiex Talt TSI S 5 Hiex St Uh TRICART F 15 Hiex gR Tt 7, IRICaRY
BT 3R 0.25 fHHT BT UH TR SfAS T 45° HI0T IR Haval! § | TRR HT FAdH a7,

ST g8 TeRfIaR) & SW J ToR WY, &
Ops: A. 32 _:%/Saa-
10.2 m/s

BT 02 WA%s



13.8 m/s

i .
C. 13.8 HIRFE
D. 19.6 m/s .

' 19.6 TIRAHS

A body of mass M in the form of an inclined plane with a 45° angle of inclination lies
on a horizontal plane. A ball of mass 'm' moving horizontally with velocity 'vo'
collides with the inclined plane. After the impact the ball bounces vertically upwards
and the inclined plane begins to slide without friction along the horizontal plane. The
velocity of the ball after the collision in its vertical travel is
45° BT DIV AT A THAA B HR P1'M' GHAM B Th g Afcsl adl IR
R &1 vy Y A fzm & nififiet m gorm @) U e 7d FHae A T
21 TP P YT Tig IR SHWR B 3R IBA ST § TUT 7d JHI Afasl Id R
05 fAT o1 & flFaa @ 8 | cdan o UYTd SETeR T | Tig &1 ol g:

Oos: A € mv,
st A.
P M

B ¢ MVO

m
= I,r'l; M - m
Co v T
pc , /M=—m

A body can rotate in a vertical plane at the end of a string of length L. The horizontal
velocity imparted to the body in its highest position, so that the tension in the string at
the lowermost position is ten times the weight of the body, will be

Q 6 U%h I L TaTs &I T SR & RN R SeafeR Id o g1 Tobl! & | Swaad fRufa &
%ﬁﬁ%w%%,ﬁw@ﬁﬁ@ﬁﬁmm%wmww

Ops:A. © \/13gl
B. © x@
C.C /5gL

c Sor
D. Vg L



An empty container is put on the pan of a physical balance and the scale is adjusted to
zero. Small identical balls of mass 10 g each are dropped into the container from rest
from height 4.9 m at a constant rate of 100 balls per second. If the collision between
each ball and container is completely inelastic, the reading of the balance after 5
second will be

Q7 1o wreht 9 TF NMIF gl F U B a1 & U7 39F IR B T R
TR R [T T B | U 10 U1 STHM 1 U HHM g faRTHTaRIT 4 4.9
Hicx 31 31 ¥ 100 Tic Ufd Yobs D1 R A g4 H TR el 81 3l Udap Tia
3R I & AT TUE YUId: SR Bl dl 5 e & §IG gl BT UIedid gHT:

Ops: A. © i g‘;ﬂ

A ball of mass 'm' lying on a frictionless surface is attached to the two elastic springs
of force constant 'k’ as shown in the figure. The other two ends of the spring are
connected to rigid wall. The ball can perform simple harmonic motion horizontally.
The ratio of the velocity of the ball at positions equal to one half and one third of
amplitude from the equilibrium position will be
T YNURIGd JHIA g R YT 'm' GoIHM &1 U 711G 'k 5o Fadics &1 Q)
AT I & FeaT R et 8 | fBi % g¥R &t RR &g dara ¥ 93 71 Tig afas
f=m & TR ST HR Tabvd & | AT § SRS © 318 3R T fagrs

Q 8 fRUfl TR 7§ o T &7 SfUTd BNTI:

K m k

MW

. 2
Ops:A. ¢ —
P 3
’%
¢ =
B.C 3
ce /%
V 3
p.c 2V i
4 1;; 2

The angular velocity of earth rotation, at which the bodies at the equator become
Q 9 weightless, is (Radius of earth = 6400 Km)

g4t ol &1 HIoa T, oy TR YHe 38T IR gy YREH 81 Sl &, & (3ot P



341 7 6400 e

. 800 /sec
Ops: A go0 ufr Adhs

B 1.25 /sec .

T 1.250fd ks
c e 1.25 x 107 /sec .

" 1-25x 107 Ufd Ad s
D O 1.25 x 10 /sec '

" 800 x 10°Ufd IH S

A metal rod of Young's modulus 1.5 x 1010 N/m2 undergoes an elastic strain of
0.06%. The energy stored per unit volume of the rod is

Q 10 1.5 x 10 N/m? T UITRGT I[UTidh ] Teh YT 1 DS 0.06% YA fdpe gicil
21 B8 & Ufd Ui 3rd A Ifd Sl §

. 900J/m3
Ops: A. € 900 \_ym/ﬁ[g,
5  1800/m3
1800 S[aI/E!
c ¢ 2700Jm3
2700 S[AHR
o 5400 )m3
" 5400 S@/AE

A piece of ice containing a piece of iron inside it is floating on water in a container.
When ice melts completely, the level of water in the container will

Q 11 U I & ThS B! 3/ 0 T BT ¢h el U Fa- H U1 b SHUR R 8T 8| o d

St qui: fOreret SiTelt &t el § U 1 &R
Ops: A. Increase
B Decrease
c Remain unchanged
D Become zero
@RS

A uniform circular disc of mass 'M' and radius 'R’ is rotating in a horizontal plane
about an axis passing through its centre of mass and perpendicular to its plane with
an angular velocity . Another disc of same radius but mass (M/2) is placed gently
on the first disc. The angular velocity of the system now is

Q 12 'M' IHM T4 'R' 301 &1 T ThIHM M Ioball &fdel dd & U Soud g 3
TToRH aTel! T ad & Taad 3&f & TRa: o SV 97T J A 6! g1 39! B
YT (M/2) S0 &1 Teh G-I dbdll ol Ugall ddbdll o 3HUR a9 g faar
ST 8| 31§ o &1 1oty i &




Ops: A. %w
2
r —_—

B. 3 w

C. Ll;cu
D.¢

The period of a simple pendulum hanging from the ceiling of a stationary cart is To.
When the cart rolls without friction down the inclined plane with angle of inclination
Q13 0, the period of oscillation

s FRR TS} &1 T F dedhd Th IR A B 3MaddTd T, 8| 5IF T8 TSt 0
BT BI & d A I o1 g1 & 2 qeepdl! 8, O Sra HI Macdeprd

.. increases
Ops:A. ¢ EI?.FGHHT%
B decreases
" gewde
c o remains unchanged
© IURafid @dar g
D beqomes infinity
© FA RSB

Four identical rings of radius R and mass M are placed at the corner of a square in X-
y plane such that each ring touches the two rings tangentially. The moment of inertia
of this system about z-axis passing through the centre of the square is

Q 14 M Y a1 R A & IR T a9l i X-Y ad 8 U 91 & DIl IR 39
UhR I ST & fb Udd dod & 9l & WRRRgg garg | i s g d

ToRdZ-31& & URd: 39 T &1 Se 3meuf &:
Ops: A. © 8 MR?

B. T 7MR?

C.T 6MR?

D.C 4MR?

A police car moving at 5.4 Km/Hr sounds siren emitting frequency of 550 Hz which
is reflected back from a stationary object some distance ahead of the car. The number
of beats heard per second by an observer sitting in the car is (Assume velocity of
sound in air= 330 m/sec)

Q 15 5.4 fosHi/der &1 I J =i T gierd HR ¥ IToId 550 ol AT !
ISR $I Gl DR Y $S g3l 3 FRYA T FRR ¥ ¥ Ul BT 3R WRafcid gl
O 81 PR T 96 Th Yeaidh gR1 g Ufd Jdhs fawdal o1 S g: (| aitford fs
ga1 &g &1 a7 7 330 HIAY)

Ops:A. T 4
B.T 5




C.T 6
D.¢ 0

A uniform string of mass M and length L is hanging from the ceiling. If a transverse
wave travels along the length of the string, then the time taken by it to travel the
whole length is

Q16 M GSTHT 3R L AFTs &1 Uh ThTHH I8 §d § ded 6! o | afe Tt &t
TS & URA: U SR T I &, al 39D 3] avdlls ga | @ 997 &

Ops: A. Xf
- /2L

B. ¢ “\ ?

- /3L
RN

- /4L

D vV g

In an organ pipe open at one and closed at the other end, two successive harmonics
have frequencies 560 Hz and 720 Hz. The length of the pipe is (Assume the velocity
of sound in air =330 m/sec)

Q 17 U 3 AT, S Teh RR TR Gt 7T goR R IR &G &, 1 Shid I-1d!
3M1gfat 560 TS AUT 720 BEWl ¢ | 3T AT Bt THalTs §: (AT wiifore fob gar
€g] T a7 7 330 HIRY)

.. 20.6cm
Ops:A. ¢ 20.6@1:?[
g A4L250m
T 412599
c o 103.13 cm
" 103.139H

D 206.25cm
' 206.25 94t

The equation of the displacement of a wave is y (in
=10(4/3 sin 277 + cos 271)

cm) . . The amplitude of the wave is
18 . Y A |
° e T b RO T ey @ty ~10(V 3 sin 271 + cos 271) & e gy
3T &
.. 10cm
. f”
Ops: A. 10 A
.. 17.3cm
~
B y73ah
.. 20cm
~
C O e
D. T 40cm



40 I

200 gram of ice at -10°C is mixed with 200 gram of water at 6 °C in a calorimeter. If
the specific heat of ice and water are 0.5 and 1.0 cal/gm°C respectively and the latent
heat of ice is 80 cal/gm, the temperature of the mixture in thermal equilibrium is

Q 19 Ts HARHIER H -10 °C P1 200 UTH T BT 6°C & 200 T SId H AT STl 5|
g gt 3R 5Tet 1 fAfRIE SR BHRT: 0.5 3R 1.0 HARIUTH °C BT TUT T6 B!

TS BT I ST 80 FARIAH B, Al Sl wr | fiysyor 7 ar &

Ops: A. © 0°C
B. T -2°C
C. ¢ -10°C
D. T 6°C

An ideal gas having pressure P, volume V and temperature T is allowed to expand
adiabatically until its volume becomes 4V while its temperature falls to T/2. The
adiabatic exponent of the gas is

Q20 TH 3MIeR 11, oI G1d P A V AUT T T §, B SItHa: fawaiia forar
ST & fob ST ST 4V BT 91Tl 3 SR a0 FREBR T/2 81 el 5| T B

G T &

Ops: A C 1.66
B. C 1.50
C. C 1.40
D C 1.33

Chemistry

Which one of the following will be most reactive for alkaline hydrolys is

Q 1 fuferfad # 9 oH T &g Sasuye & Ufd Jaifde fharid g

CH; - CH, - CH, - CH - COOH

Ops: A.
Br
.. CH; - CH, - CH - CH - COOH
B. © -
Br
. CH; - CH - CH, - CH, - COOH
C.¢ | - -

Br
D. ¢ Br-CH, - CH, - CH, - CH, - COOH

The most suitable reagent for the conversion of methylbenzoate to be benzyalcohol is

Q 2 AT g=lte ¥ 9f~Td Tehlgdl U HRA & fod Jadl Sugad fsHe §

Ops: A. ©  Hy/Pd-C
B. T LiA/H,




C. © NaBH,
D. ©  Li/NHs (I)

Which one can be synthesized by Wurtz reaction

Q 3 g 3ifiiferar gRT frap! Txaiftid foram ST gaar 3|

Ops: A. € Tgluene
B zilkyle hal@e
UNEAENEHNIES
.. alkane
. alkene
D e

Which one of the following made through condensation polymerization.

Q 4 fagforiad & ¥ frue! Yo 9gad IR0 gRT ST ST & |

Ops: A. © %
B Bakelite
c o Pglythene
CINIRIE]
D Acrilan

Which one of the following has hexagonal crystal structure

Q 5 fAgfafad # A oiF Yo vy fhed I 3@ B |

Ops: A. & BaSO,
B. T CdS
C. T SnO;
D. T Na,SO,. 10H,0

Which of the following is anti ferromagnetic.

Q 6 fagferiad & ¥ &9 ufd Al T 1a g
Ops: A. T Hy0

B. CrO,

C. T MnO

D. MgFeZO4

Q 7 Synthesis of amonia is represented by the following reaction.



Ops:

Q8

N + 3H — 2NH

2(g) 2(g)
A H°= —91.8KJ mol!
What will be enthalpy of decomposition of ammonia according to reaction.

3(2)

2NHy,) = Ny + 3Hy 5 AHC =2
S &1 fAmtor g sifvferar R efar mar 21
Ny + 3Hyg — 2NHy,

A H°= -91.8KJ mol™!

fYTHAT & SR NH[sum]3 & faeres & ferd ififshar ot TRt . gl
INHy,) = Ny + 3Hy) ; AH® =2

2566689

A. T -91.8kImol?

B. " +91.8 kJmol*
C. 7 -459kJmol?
D. " +45.9kJ mol*

2(g)

What will be the pH of -001M Ba(OH); solution

.001M Ba(OH), faera= PH &1 |19 81T

Ops:A. T 20

Q9

B.T 84
C. T 113
D.T 27

Which of the following aqueous solution must have the highest boiling points.

ﬁaﬁ%mﬂaﬁwmwﬁww@mw

Ops: A. © 1.0 M NaOH

B. © 1.0 M Na;SO,
C. T 1.0MNH4NO;
D. T 1.0 M KNO;3

Which of the following is the correct for increasing bond order.

Q 10 fypfafad # & sgd SuUHH &1 I8t HH g

256669

OpsiA. © 03 >0, >0, >05

B.C 0, <0,<0, <05
C.C 0; =0,0; >05
D.C 0, <0,>0,<0;



Two particles A and B are in motion. If the wavelength associated with particle A in
motion is 5 x 10® m. What will be the wavelength associated with particle B if the
momentum is half than that of A.

Q 11 I HUT A Td B TTfd #R 33 &, Tfe HUI A T TIIfoTd ai e HTAMS5 x 10° mg ot
WE?WW%%&WHHW@THW%WBWWWA%@W
3T R

Ops:A. T 5x10%m
B. T 10x10%m
C.T 25x10%m
D.T 02x10%m

The radius of which of the following orbits is same as that of the first Bohr's orbit of
H atom?

Q12 fgfifad o ¥ fodds e &t AT T T gISgIor URHTY b YYH Tig H&f i
AT & SRISR I

Ops: A. © He' (n=2)
B. © Li** (n=2)
C. T Li* (n=3)
D. C Be* (n=2)

Which of the following substances is serving as a reducing agent in the following
reaction?

frafafad 4 O fordd sa & BT &1 9 gIs gl TR & UYH dgR 6af o
QL Bem e

14H*+Cr, 07 +3Ni — 2Ce3* + TH,0 + 3Ni2*

Ops: A. T HO

B. T Ni
cC.T H
- 2-

Which is the strongest acid?
Q 14 g & Fer el 3% BT |
Ops: A. T H(C/O)O,

B. © H(C/O)Os

C. ¢ H(C/0)O

D. ¢ H(C/O)

Q 15 IUPAC name of compound



fau T 91 &1 IUPAC AT B
0 CH,
[:::> ————-éé —N ::z:;aﬂ CH, is
N, N - dimethyl cyclopropan carboxamide
N,N - SRR TR HEaEHES
N - methyl cyclopropanamide
N -
Cyclopropianomide
R IEENIFIEREIES
None of the above

D Suda A B et

Ops: A. ©

Which of the following reaction is not correct.

QlGﬁéﬁr@aﬁﬁﬁ?@&ﬂmwﬁ%

MnO; + 8H" + 5Fe”" — 5Fe’ +

Ops: A. © N
Mn~" + 4H,0

(“
B 2MnO,+4KOH + 0, —» 4KMnO, + 2H,0

2Na,Cr0,+2H" — Na,Cr,0, + 2Na*+H,0
K,Cr,0; + TH,S0,+ 6KI — 4K,S0,+
Cry(SO, )3+ 31y + THy0

Which of the following compound will give tribromo derivative when treated with
Q17 bromine water.

9 & § SH-1 A S STd o 91 SUDRd B UR SRS I GTT?
EEEEEHQ

CH,DH

Ops: A. @&

CH,

" Q)
OH

CH

’ OH
e

CH,

D. ©

OH

Q 18 If E° Cu®|Cu = 0.34V and E° Ag*|Ag = 0.80V, what is the emf of the cell at 298 K?



g E° Cu?|Cu = 0.34V Td E° Ag'|Ag = 0.80V, Fi9 I &1 faggaard® o 298 K
WRENT

CulCu2* (0.01M) || Ag*(0.01M)/Ag

Ops:A. T 040V
B. T 046V
C.T 050V
D.T 052V

The dark purple colours of KMnQy is due to
Q 19 KMNO, BT TEXT ST T fbdl HRUT BT

d - d transition
d - d HhHUI
B Liggnd fielq transition

R GUSEERER LY
Charge transfer transition
TR VIR HhHU]
o- T+ transition

o- + hHU[

Ops: A. ©

C. T

D.

The number of 6 and 7 bonds between two carbon atoms in CaCs is

Q 20 CaC, T &1 SIa URHTY & T 6 Td ¢ S Bt AeAT BT

Oos: A, € Three o bonds and no & bonds .
P T 6 T 3R 3R ﬁ‘s‘ n T 8]

Two © bonds and one 6 bond

& T 3R TH 6 T

Two o bonds and one  bond

Vo T™ 3R Uh 7 %

One 7 bond and one ¢ bond

TH 1 T 3R TP o T

B.

C. T

D.



